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CHEM STRY MARKING SCHE ME

FOREI GN 2013

SET-5621

Q no. | Answers Mar ks
1 Metallic sdids 1
2 Gs notic pressure 1
3 Zone refinng 1
4 2-chloro-3- net hyl butane 1
5 Phenol < 4-nitrophenadl < 2 4, 6-trinitrophenol 1
6 CH- CH OH- CH- CHO 1
7 Because of H effect or electron donating nature of nethyl group.
1
8 Hexanmethylene damne and adipic acid
1
9
Yo
1
According to Henry’s law, p =kgXcH, 1,
p 760mmHg  _. 2o 1073
XCH, = = e E
4 " kg 4.27x10° mmHg
10 (D) ' ane in benzene; x ~1.78 x 10™. 1
2 Mole fraction of meth CH, tofreeze
the sd uiontenperature has 10 ve 1uve
1
11 a) k=2303 log[ Al Y
t [A
t= 2303 log10 1
60s!
Ya
t = (00383sec
12 a) Peptizati on takes place. 1
b) Because of larger surface area 1
13 Lyophilic sds Lyophobic sds

1 Lyophilic sds are sd vent atracting

2 Reversibe

1 Lyophobic sds are sdvent repelling

2 Irrfversi be
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Yot Y5
3 Jable 3. Uhstable
(any t o)
ex Qmagelainestarchrubber (any | ex Mtal sds, netal su phides (any one) Yo+
one)
14 Aumnaisleached out by using conc. NtOH sdutionto sodiumal umnate and silica as
sodi umsilicate.
A, Q +2NaOH+3 B0 —_, 2Na[ A(OH 4]
A umniumhydroxide or hydrated alumna isthen ppt. by passing CQ gas whereas
sodi umsilicate re mai ned insd uion 2
Aumniumhydroxide isignitedto get pure al unna
(or explainedinany other correct suitable nanner)
OR
(a)
Cup S+FeS 1
()
Depressart is used to separate sul phide ore selectivel y froma mixt ure of two sul phi de 1
Ores.
15 (i) HF <Hd <HB < H 1
(i) NH <PH< AHR<ShH<BH 1
16
a) CHO T
| HCMN CH-OH 1
(CHOR) —_— |
~ L1 (cHOH )‘_'
CH,OH C H,OH
b) T HO B W“f”) ?’(“OH
(«,” HOH),, T (cHOH ), 1
H,OH /’ H,OH
17 a) Hydrogen bondi ng
b) Nucleatideis sugar +nitrogenous base + phosphate group whereas Nucleosideis sugar
+ nitrogenous base . 1+1
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18 1) Buna- S < Pal ythene <nylon-6 6
2) Neoprene <PVC < Nyl on-6 1+1
19 d=zx M
& X Ny Yy
27gcm® = zx27g ol * 1
(405 x 10 cm)® x 6022 x 10°° nol**
z= 27 gem® x6022 x 107 mol™! x (405x 108 cm ®
27 g mol !
Z =4 72
Hence the cubic unit cell isf.c.c 1
20 1) I arder
2) -k
3) sect 1x3=3
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21

) F g

1 x3=3

22

22

i) Due to discrete tetrahedral structure and angul ar strain white phosphorus is nore
reactive whereas red phosphorus is pd yneric and therefore less reactive.
ii) Because of higher charge/size ratio of Sn'".
iii) Due toits ease of liberating nascent oxygen
OR

() PA; +3H0 — HPQ+ 3Hd
(i) XeF, +PR — » DeAPRI

(iii)2Na Ny , 2N +3N

1x3=3

1x3=3

23

)] O brom dobi s-(et hane- 1, 2- di am ne) cobalt(111) /
D brom dobi s-(ethyl enedi a m ne) cobalt(111)

ii)lonizationisonerism
iii) Because of back bonding(synerg c bonding), GO stahilize the conplex more than NH;,

1x3=3
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24 i) Retention of configuration
i)Inversion of configuration
iii) Race msation
1x3=3
25 H
(i) CH,-CH,-O-H + H —> CH,~CH,~O-H Yo
. > H :
(i) CH,CH,~ 0% + CH;~CH,;- 0", — CH,CH,~O~ CH,CH, + H,0 Yy
H H
() CH:,CHE—Z,_E;J— CH,CH,—> CH,CH,-O-CH,CH, + H 1
H
(b @ Q/ KMiQJ/ Acidfied K QG 1
26 . B B e 7
i ‘_ij}/'\ml ’Fiﬁgg‘“f( I . L{:TW,N,U ,iﬁ,w"("-,- ]‘\\;\I\I,.L |
, B, <OH - "
(M CHLOO0H - I\Zj’% > CHaCONH, Z > Chg, NHa
g Ho O o H=OH
iy Ce Hg N2 cl = > sts ’ 1x3=3
27 i) Hel ping , caring and setting an exa npl e of true friendshi p
i) Tranquilizers
iii) Because in excess it act as poison and can harmthe nervous system
1x3=3
28 (a) Kohlrausch’s law states that 1i mting nolar conductivity of an electrdyte can be
represented as the sum of the individual contributions of the anion and cation of the 1
electrdyte
It is ised to calcuate Am of even weak electrd yte./ It is usedto calcu ae degree of 1

di ssoci ati on
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(b)

R=p(l/ )

(ell constant 1/a=R/p=Rk 1
15000 x(0. 15x10*Scm?) 1
=0 25c m' 1
OR
28 0 0 0
E cel = Ecahode - Eanode
=034V —(-236) V 5
= 270V &
0
Ecenl = it - 0059 10g [ My* ] 1
2 [ Cu?™]
Eeen =270 V- 0059 log (0001 M
2 (00001 N
270 V- 0059 log(10)
2
1
=270V- 0029 V
=2 6705V
Ya
A G) == nFEO cell 1
-1 Yo
=-2 x9500C nol™" x 270 V
=-5211k mol™
29 i) Because of the absence of unpaired electroninthe for mation of netallicbond/ because

of non-invol vent of d-orhbital eectrons inthe formation of netallic bond
ii) Because of lanthanoid contraction
iii) Because of inconplete filling of d-orhitals.




Foreign-1 2013

iv) Because of low Awqg H and high A H of Qr" ion and Qu respectivel .

V) Because @**has stable ty,” half filled confi guration 1x55
OR
29 2MGQ + 4KOH +Q 2K MQ +2HO 1
MhQ? under goes disproportionation reactioninacid mediumto give MO, ion 1

3MIQ” +4H  2MIO, +MIQ RHO0 1

i)

MQ +8H +F™ M’ +F +#4H0 1

i)

2MQ +16H +5G0O* —2M?" +10CQ +8H O 1
30 a)

i) Because carbon of carbonyl group inethanal ismore electrophilicthan of ketone due to

the presence of one electron donating nethyl group.

i1) Because of the absence of o hydrogen aom

iii) Because of extensive association of hydrogen bond/ d nerisationin carboxylicacid | 1x3=3

b)

i) Add NaOH +1,, acetophenone gives yellowppt. of CH3 whereas benzophenonedoes

not for many ppt.

ii) Add NaOH + I, ethanal gves yellowppt. of CH 3 whereas benzal dehyde does nat 1+1

for many ppt.

(or any a her correct sutable test)
OR
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